


BOX 5 BOXO0 BOX 2

CYL. HEAD SCREW 2!
DIN912 M3X8

a

x (@) D

CYL. HEAD SCREW
DIN912 M3X16

N
=

x () D

STRUCTURE  1x
POWER SUPPLY

mosny o (mmm—
CYL.HEAD SCREW gy @)\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ L
DIN912 M3X30
CYL. HEAD SCREW BOX 1 §OX 4
DIN912 M4X16
MOTHERBOARD

MKS GEN V1.2 1x
COM 5 DRV8825
STEPPER DRIVER

CYL. HEAD SCREW
DIN912 M4X30

BUTTON HEAD SCREW

GLASS g,
DIN7380 M4X10

3MM 213X200MM

BUTTON HEAD SCREW
DIN7380 M4X20

<
o
D)
—
D)
o
—
N
Ll

HEX HEAD SCREW  2¢
DIN933 M3X20

USB CABLE  1x f.\ y

HEX HEAD SCREW ¢
DIN933 M5X10

BOX 1 BOX 3

X AXIS NEMAL7 STEPPER MOTOR 1X
COM CABOS | 460 mm

SOCKET SET SCREW  10x
DIN914 M3X4

SERRATED LOCK WASHER 75

DIN6798J M4 BLOWER

PLAIN WASHER  45x
DIN125 M3

PLAIN WASHER 3x
DIN988 M6

Y AXIS NEMA17 STEPPER MOTOR 1y
COM CABOS | 890 mm

HEX. THIN NUT 1 67X
DIN439 M4

Z AXIS NEMA17 STEPPER MOTORS

COM CABOS | 620+130+100 mm ¥

SWITCH ON/OFF BOX

NYLOCNUT  42x
DIN985 M3

M5BRASSNUT  2x (1) )

“U” CLAMP 6x
A2 M4 20X20,5MM

8MM LINEAR BEARING ~ 10x (5) )

FLEX COUPLING 5MM 2x m

EXTRUDER NEMA17 STEPPER MOTORS,y
COM CABOS | 850 mm

END STOP SUPORT

BOX 1

EXTRUDER FAN 24V 4x = >
BED SPRING 3x  (OOD COM CABOS | 1030+5 mm &>
20.8X2.5 FAN SUPPORT
SPACER
8X7MM HOLE 4,3MM ELECTRONICS COOLING FAN 24V 2y
COM CABOS | 290+5 mm
U-GROOVE WHEEL
ADJUSTMENT 24
FOR BEARING COVER gy END STOP 3
PULLEY GT2 20 TOOTH
END STOP CABLING 3x ~ =
FLAT BELT PULLEY PCB SPACER oo & ﬁ
24V HEAT CARTRIDGE @6 mm 2x
COM CABOS | 1020 mm d QA
DISPLAY SPACER ELECTRIC FUSE 250V 2A
EXTRUDER HEAT SINK PARA 230vAC X B
ELECTRIC FUSE 250V 3A
CLAMP PARA 115vAC X E—T
EXTRUDER TEMPERATURE SENSOR @4 mm,, .
EXTRUDER HOT END COM CABOS | 1020 mm )
Y SUPPORT
POWER CORD 1x
REGION SPECIFIC
GT2RUBBERBELT ~ 2M
X SUPPORT

AC SOCKET  1x
COM INTERRUPTOR E SLOT PARA FUSIVEL

BINDER CLIPS 19MM 2x %
Z SUPPORT TOP

CABLE TIE 3.6X140MM 10x (i ——

Z SUPPORT BOTTOM LEFT

20x (i
CABLE TIE 2.5X100MM CONTROL PANEL 1X

BOX 0

Z SUPPORT BOTTOM RIGHT CONTROL PANEL CABLES 2X

LINEAR GUIDE 8X310MM (Y) ~ 2X

LINEAR GUIDE 8X335MM (2) 2x Z END STOP ADJUSTABLE

LINEAR GUIDE 8X385MM (X) ~ 2X

PCB HEATED BED

MK2B 214X214MM

COM CABOS | 980 mm
COM THERMISTOR | 880 mm

THREADED ROD DIN976 A2 M5X320  2X

B OX 3 END STOP LEVER X/Y 2x
[ cape casivose oo INMMMMMMUMLARRRRLAREY L

1x

NOTA: Encontram-se algumas pecas extra neste kit que foram incluidas

para que nao faltem pecas essenciais a montagem.

<
O
zZ
<
O
L
=
O

[> ELECTRONICA




